JACOBIAN

Friday, January 21, 2022 1:17 PM

Definition: If u and v are functions of two independent variables in and y then the determinant

|
$$\frac{\partial u}{\partial n} \frac{\partial u}{\partial y}$$
 | $\frac{\partial u}{\partial n} \frac{\partial u}{\partial y}$ | $\frac{\partial u}{\partial n} \frac{\partial u}{\partial n}$ | $\frac{\partial u}{\partial n} \frac{\partial u}{\partial n}$ | $\frac{\partial u}{\partial n} \frac{\partial u}{\partial n}$ |

u and v with respect to x and y and it is denoted

$$\frac{\delta(u,v)}{\delta(x,y)} \propto J\left(\frac{u,v}{y,y}\right) \rightarrow J$$

Similarly, If
$$u, v, \omega \rightarrow x, y, z$$

$$\frac{\partial (u, v, \omega)}{\partial (x, y, z)} = \begin{bmatrix} \frac{\partial u}{\partial x} & \frac{\partial u}{\partial y} & \frac{\partial v}{\partial z} \\ \frac{\partial v}{\partial x} & \frac{\partial v}{\partial y} & \frac{\partial v}{\partial z} \end{bmatrix}$$

Property: If J denotes the Jacobian of u, v with respect to x, y and J' denotes the Jacobian of x, y with respect to u, v then it can be proved that JJ' = 1

SOME SOLVED EXAMPLES:

1. Prove that JJ' = 1 for $x = e^v \sec u$, $y = e^v \tan u$

Sold :-
$$x = 6$$
/sech $\lambda = 6$ /s

$$= \begin{vmatrix} e^{\sqrt{3}} \sec u \ ben u \end{vmatrix} = e^{\sqrt{3}} \sec u$$

$$= e^{2\sqrt{3}} \sec u \ ben u^{2} u - e^{2\sqrt{3}} \sec^{2} u$$

$$= e^{2\sqrt{3}} \sec u \ (ban^{2}u - \sec^{2}u)$$

$$= -e^{2\sqrt{3}} \sec u \ (ban^{2}u - \sec^{2}u)$$

$$= -e^{2\sqrt{3}} \sec u \ (ban^{2}u - \sec^{2}u)$$

$$= -e^{\sqrt{3}} \cot u \ (ban^{2}u - \sec^{2}u)$$

$$= -e^{\sqrt{3}} \cot u \ (ban^{2}u - \sec^{2}u)$$

$$= -e^{\sqrt{3}} \cot u \ (ban^{2}u - \cot^{2}u)$$

$$= -e^{\sqrt{3}} \cot u \ (ban^{2$$

$$\frac{3y}{3y} = \frac{1}{2} \cdot \frac{1}{\pi^2 - y^2} \cdot (-2y) = \frac{-3}{\pi^2 - y^2}$$

$$\frac{1}{7} = \frac{1}{7} \frac{1}{\sqrt{\pi^2 - y^2}} \cdot \frac{1}{\sqrt{\pi^2 - y^2}}$$

$$= \frac{y^2}{\pi (\pi^2 - y^2)^{3/2}} - \frac{\pi}{(\pi^2 - y^2)^{3/2}}$$

$$= \frac{(y^2 - \pi^2)}{\pi (\pi^2 - y^2)^{3/2}} = \frac{-1}{\pi (\pi^2 - y^2)}$$
but $\pi^2 - y^2 = e^{2N}$

$$\frac{1}{7} = \frac{1}{\pi e^N}$$

$$3J' = (-ne^4) \left(\frac{1}{ne^4}\right) = 1.$$

2. Prove that JJ' = 1 for $x = \sin \theta \cos \Phi$, $y = \sin \theta \sin \Phi$

$$\frac{Solh!}{J} = \frac{1}{30} \frac{\partial n}{\partial \phi} \frac{\partial n}{\partial \phi} = \frac{1}{30} \frac{\partial n}{\partial \phi} \frac{\partial n}{\partial \phi} = \frac{1}{30} \frac{\partial n}{\partial \phi} \frac{\partial n}{\partial \phi} = \frac{1}{300} \frac{\partial n}{\partial \phi} = \frac{1}$$

$$= \frac{\pi^{2}}{\sqrt{1-\pi^{2}-y^{2}}} + \frac{y^{2}}{\sqrt{1-\pi^{2}-y^{2}}} = \frac{(\pi^{2}+y^{2})^{3/2}}{\sqrt{1-(\pi^{2}+y^{2})}} + \frac{y^{2}}{\sqrt{1-\pi^{2}-y^{2}}} + \frac{(\pi^{2}+y^{2})^{3/2}}{\sqrt{1-\pi^{2}+y^{2}}} = \frac{(\pi^{2}+y^{2})}{\sqrt{1-\pi^{2}+y^{2}}} + \frac{(\pi^{2}+y^{2})^{3/2}}{\sqrt{1-\pi^{2}+y^{2}}} = \frac{1}{\sqrt{1-\pi^{2}-y^{2}}} + \frac{(\pi^{2}+y^{2})^{3/2}}{\sqrt{1-\pi^{2}-y^{2}}} = \frac{1}{\sqrt{1-\pi^{2}-y^{2$$

3. Prove that JJ'=1 for $x=\sqrt{vw}, y=\sqrt{wu}, z=\sqrt{uv}$

$$3'=4$$
 $3J=\frac{1}{4}x4=1$

4. If
$$u = \frac{y^2}{2x}$$
, $v = \frac{x^2 + y^2}{2x}$, find $\frac{\partial(u,v)}{\partial(x,v)}$

$$\frac{\partial (u,v)}{\partial (u,v)} = \begin{vmatrix} \frac{\partial y}{\partial n} & \frac{\partial u}{\partial v} \end{vmatrix} = \begin{vmatrix} \frac{-y^2}{2m^2} & \frac{y}{n} \\ \frac{\partial y}{\partial n} & \frac{\partial y}{\partial v} \end{vmatrix} = \frac{y^2 y^2}{2m^2}$$

$$=$$
 $\frac{-9}{2n}$

If $x = a \cos hu \cos v$, $y = a \sin hu \sin v$, show that $\frac{\partial(x,y)}{\partial(u,v)} = \frac{a^2}{2} [\cos h2u - \cos 2v]$

1/24/2022 1:15 PM

6. If
$$u = xyz$$
, $v = x^2 + y^2 + z^2$, $w = x + y + z$, find $\frac{\partial(x, y, z)}{\partial(u, v, w)} = \int$

$$we will find $\frac{\partial(u, v, w)}{\partial(u, v, w)} = \frac{\partial u}{\partial v} \frac{\partial u}{\partial v} \frac{\partial u}{\partial v} \frac{\partial u}{\partial v}$

$$\frac{\partial u}{\partial v} \frac{\partial u}{\partial v} \frac{\partial u}{\partial v} \frac{\partial u}{\partial v}$$

$$\frac{\partial u}{\partial v} \frac{\partial u}{\partial v} \frac{\partial u}{\partial v} \frac{\partial u}{\partial v}$$$$

$$\frac{3(u,v,w)}{3(u,v,w)} = \frac{3(u,v,w)}{3(u,v,z)} = \frac{1}{3(u,v,w)} = \frac{1}{3($$

7. If ux = yz, vy = zx, wz = xy, prove that $\frac{\partial(u,v,w)}{\partial(x,y,z)}$ is constant

$$Som: U = \frac{yz}{z}, \quad U = \frac{z\pi}{y}, \quad W = \frac{\pi y}{z}$$

$$\frac{\partial (U,V,\omega)}{\partial (N,M,Z)} = \begin{vmatrix} \frac{\partial U}{\partial N} & \frac{\partial U}{\partial N} & \frac{\partial U}{\partial N} \\ \frac{\partial V}{\partial N} & \frac{\partial V}{\partial N} & \frac{\partial V}{\partial N} \end{vmatrix} = \begin{vmatrix} -\frac{1}{2} \frac{V}{N} & \frac{V}{N} \\ \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} \end{vmatrix} = \begin{vmatrix} -\frac{1}{2} \frac{V}{N} & \frac{V}{N} \\ \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} \end{vmatrix} = \begin{vmatrix} -\frac{1}{2} \frac{V}{N} & \frac{V}{N} \\ \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} \end{vmatrix} = \begin{vmatrix} -\frac{1}{2} \frac{V}{N} & \frac{V}{N} \\ \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} \end{vmatrix} = \begin{vmatrix} -\frac{1}{2} \frac{V}{N} & \frac{V}{N} \\ \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} \end{vmatrix} = \begin{vmatrix} -\frac{1}{2} \frac{V}{N} & \frac{V}{N} & \frac{V}{N} \\ \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} \end{vmatrix} = \begin{vmatrix} -\frac{1}{2} \frac{V}{N} & \frac{V}{N} & \frac{V}{N} \\ \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} \end{vmatrix} = \begin{vmatrix} -\frac{1}{2} \frac{V}{N} & \frac{V}{N} & \frac{V}{N} \\ \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} \\ \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} \\ \frac{\partial W}{\partial N} & \frac{\partial W}{\partial N} &$$

$$= -\frac{35}{312} \left[\frac{352}{322} - \frac{32}{32} \right] - \frac{5}{2} \left[\frac{322}{322} - \frac{33}{32} \right] + \frac{5}{2} \left[\frac{32}{32} + \frac{34}{32} \right]$$

$$= \frac{-yz}{\pi^2} \left(\frac{\pi^2}{yz} - \frac{\pi^2}{yz} \right) - \frac{z}{\pi} \left(\frac{-\pi}{z} - \frac{\pi}{z} \right) + \frac{y}{\pi} \left(\frac{\pi}{3} + \frac{\pi}{3} \right)$$

$$\frac{\partial (u_1 v_1 w)}{\partial (x_1 y_1 z)}$$
 is a constant.